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Inteqiation by parts

We use integration by parts when we have a product and one of the factors is not
related to the other (we can’t use substitution).

Eg. J-xsinxdx

The formula is derived from the product rule
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Inteqration by parts

Examples: gud\/ = v - S'Vd'u

1. Ixcos2xdx
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Inteqration by parts

Examples: judg - - YVON\

2. jxsin3xdx .
U= -
u- | cﬁc- sin3xdx.
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Inteqration by parts

Examples: .J\
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Examples: ‘S udv = av —J‘VJU\

4. [@x+1)e™dx
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Inteqration by parts

Examples: J udv = uv - J'Vdu

5. jx31nxdx
u= Lax ad dv= x> dx
v >
d. L Tk v
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Inteqration by parts

ExamPles: SUAV T J‘Vau

6 jxl—41nxdx

let u=2nx and AV = 3"“"
%%l J- - ?; = x‘.
< "=X
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Inteqration by parts
Examples: jUdV - UV - J\VO‘U
7. Ix\/2x—1dx
4
¢ wu=x and dv = (;b‘ 07 d=
- % - (2 01 %
du =dx ve (ax -\3 (7"_;’“
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Inteqration by parts

Examples: judv - uv -deu
8. Isin"xdx
,d' u= Sm"z- dv:ldx-
dv
Ju | “dx. \
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Integration by parts - Repeated Application
Somtimes we have to use integration by parts more than once.
Sud\[ = u - j\ldu

Examples:

1. sz cos3xdx
let =™ dv = cos‘Sxax-
d
%:a" e scos 3
du=axdx V= "-5814\3:
$xtsaix -J + (2sindx dx.
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FxsindxtFecosdx - T3sIndx
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2. Ixzexdx

u=x*

du
dx = Ax
d.u.:QJtdx
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Inteqration by parts = Definite ]hhﬂgmlq Su“ - S‘Ju
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Inteqration b\/ parts - PP Questions

Specimen Paper

Find [ x%e™dx. 5

Inteqration by parts = PP Questions

Obtain [« (Inx)" dx. 6
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Integration by parts = PP Questions

. .2 .
Obtain the exact value of -[[] xZet dx. 5
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